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PART - III

uõÁµÂ¯À / BOTANY

( uªÌ ©ØÖ® B[Q» ÁÈ / Tamil & English Versions)

÷|µ® : 3 ©o ] [ ö©õzu ©v¨ö£sPÒ : 150
Time Allowed : 3 Hours ] [Maximum Marks : 150

AÔÄøµ : (1) AøÚzx ÂÚõUPÐ® \›¯õP £vÁõQ EÒÍuõ Gß£uøÚ
\›£õºzxU öPõÒÍÄ®. Aa_¨£vÂÀ SøÓ°¸¨¤ß AøÓU
PsPõo¨£õÍ›h® EhÚi¯õPz öu›ÂUPÄ®.

(2) }»® AÀ»x P¸¨¦ ø©°øÚ ©mk÷© GÊxÁuØS¨ £¯ß£kzu
÷Ásk®.  £h[PÒ ÁøµÁuØS®, AiU÷PõikÁuØS® ö£ß]À
£¯ß£kzuÄ®.

Instructions : (1) Check the question paper for fairness of printing.  If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

£Sv -& A / SECTION - A

SÔ¨¦ : (i) AøÚzx ÂÚõUPÐUS® Âøh¯ÎUPÄ®. 30x1=30

(ii) öPõkUP¨£mh |õßS ÂøhPÎÀ ªPÄ® HØ¦øh¯ Âøh°øÚ
÷uº¢öukzx SÔ±mkhß Âøh°øÚ²® ÷\ºzx GÊxP.

Note : (i) Answer all the questions.

(ii) Choose the most suitable answer from the given four alternatives and write
the option code and the corresponding answer.

1. ª³éõ uõÁµzvß Cø»¯ø©Ä :

(A) ©õØÔø»¯ø©Ä (B) Gv›ø»¯ø©Ä
(C) C¸Á›ø\ Cø»¯ø©Ä (D) _ÇÀ Cø»¯ø©Ä
The phyllotaxy in Musa is :

(a) Alternate (b) Opposite

(c) Distichous (d) Spiral
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2. £ß©¯zøu yskÁx :

(A) £õ¼ Gzv¼ß QøÍUPõÀ (B) ö£Ui÷Úì

(C) ö\À¾÷»ì (D) PõÀa]êß
Polyploidy can be induced by :

(a) polyethylene glycol (b) pectinase

(c) cellulase (d) colchicine

3. RÌUPshÁØÖÒ ö£õxÁõÚ _Áõ\uÍ¨ö£õ¸Ò Gx ?

(A) ¦µu[PÒ (B) ¼¨¤kPÒ

(C) Põº÷£õøím÷µmkPÒ (D) øÁmhªßPÒ
Which of the following is the common respiratory substrate :

(a) proteins (b) lipids

(c) carbohydrates (d) vitamins

4. ö\À¼ß BØÓÀ |õn¯® GÚ¨£kÁx :

(A) ATP (B) NADP (C) FAD (D) NADH
2

It is described as energy currency of the cell :

(a) ATP (b) NADP (c) FAD (d) NADH
2

5. P¸®¤À Põn¨£k® JØøÓ©¯ S÷µõ÷©õ÷\õ® :

(A) 30 (B) 40 (C) 10 (D) 20

Haploid set of chromosome in sugarcane is :

(a) 30 (b) 40 (c) 10 (d) 20

6. PÛPÒ £Ê¨£vÀ £[PõØÖ® íõº÷©õß :

(A) BU]ß (B) â¨µÀ¼ß

(C) Gzv¼ß (D) A¨]]U Aª»®
The hormone that involves in ripening of fruits is :

(a) auxin (b) gibberellin

(c) ethylene (d) abscisic acid

7. ö£õµõ\ì ¤»õö£À¼Lö£º Gß£uß \õuõµn¨ ö£¯º :

(A) öußøÚ (B) J°ß £øÚ

(C) Cµõ¯À £øÚ (D) £øÚ
Borassus flabellifer is the binomial of :

(a) coconut tree (b) wine palm

(c) royal palm (d) palmyra palm
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8. î²÷Põ j ÆŸì vjº ©õØÓzøuU PshÔ¢u uõÁµ® :

(A) ö\õºUP® (B) {²÷µõì÷£õµõ

(C) D÷Úõwµõ »õ©õºUQ¯õÚõ (D) ø\\º øáPõì

Hugo de Vries first used the term mutation based on his observation on :

(a) Sorghum (b) Neurospora

(c) Oenothera lamarckiana (d) Cicer gigas

9. öÁº÷ÚõÛ¯õ Bº÷£õ›¯õ J¸ :

(A) ]Ö ö\i (B) ¦uº ö\i

(C) ©µ® (D) ¤ßÝ öPõi

Vernonia arborea is a :

(a) herb (b) shrub

(c) tree (d) twiner

10. ïÂ¯õ ¤÷µ]¼¯ßêì uõÁµzvß Cø»PÒ :

(A) uÛzux (B) ‰ßÖ ]ØÔø»PøÍ²øh¯ Tmiø»

(C) Põ®£ØÓx (D) A[øP ÁiÁ Tmiø»

In Hevea brasiliensis, the leaves are :

(a) Simple (b) Trifoliately compound

(c) Sessile (d) Palmately lobed

11. ø£›S÷»›¯õ Jøµ÷\Âß Cµshõ® {ø» K®¦°ºz uõÁµ® :

(A) Jøµ\õ \møhÁõ (B) iâ÷h›¯õ ©õºâ÷Úmhõ

(C) AµõUQì øí÷£õâ¯õ (D) ]mµì uõÁµ®

What is the collateral host plant of pyricularia oryzae ?

(a) Oryza sativa (b) Digitaria marginata

(c) Arachis hypogea (d) Citrus plant
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12. ©Ûuß EmöPõÒÍzuUP øÁmhªß ©õzvøµPÒ Cv¼¸¢x
u¯õ›UP¨£kQÓx :

(A) |õìhõU (B) Dìm

(C) PõÍõß (D) ìø£¹¼Úõ

Enriched vitamin tablets are produced from the following organism for human
consumption.

(a) Nostoc (b) Yeast

(c) Mushroom (d) Spirulina

13. |À¼ ÷\õª CÆÁõÖ SÔUP¨£kQÓx :

(A) 2n−1 (B) 2n+1 (C) 2n+2 (D) 2n−2

Nullisomy is represented by :

(a) 2n−1 (b) 2n+1 (c) 2n+2 (d) 2n−2

14. ÁÈa ö\ÀPÒ __________ ß APz÷uõ¼À Põn¨£kQßÓÚ.

(A) C¸Âzvø»z uõÁµz usk (B) C¸Âzvø»z uõÁµ ÷Áº

(C) J¸Âzvø»z uõÁµz usk (D) C¸Âzvø»z uõÁµ Cø»

Passage cells are found in endodermis of :

(a) dicot stem (b) dicot root

(c) monocot stem (d) dicot leaf

15. ‘Z’ ÁÈ•øÓ SÔ¨¤kÁx :

(A) _ÇØ] G»Umµõß PhzuÀ (B) }º JÎ¨ ¤ÍzuÀ

(C) _ÇØ]°»õ G»Umµõß PhzuÀ (D)  CO
2
 JkUP®

Z - scheme refers to :

(a) Cyclic electron transport (b) photolysis of water

(c) Non-cyclic electron transport (d) reduction of CO
2
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16. ¦ØÖ÷|õ´ ö\ÀPÎÀ Põn¨£k® S÷µõ÷©õ÷\õ® :

(A) £õ¼jß S÷µõ÷©õ÷\õ® (B) ÂÍUS y›øP S÷µõ÷©õ÷\õ®

(C) B - S÷µõ÷©õ÷\õ® (D) h¦Ò ªÛmì

Chromosomes occur in cancer cells are called as :

(a) Polytene chromosome (b) Lamp brush chromosome

(c) B - chromosomes (d) Double minutes

17. C¢v¯õÂÀ Põ¨¦›ø©U Põ»® :

(A) 3 BskPÒ (B) 4 BskPÒ (C) 5 BskPÒ (D) 6 BskPÒ

Duration of patent in India is :

(a) 3 years (b) 4 years (c) 5 years (d) 6 years

18. ÷P»ê¼¸¢x ÷Áº ÷uõßÖÁx :

(A) EÖ¨¦UPÍõUP® (B) øµ÷\õöáÛêì

(C) Põ÷»õöáÛêì (D) P¸ E¸ÁõUP®

The development of root from the callus is called :

(a) organogenesis (b) rhizogenesis

(c) caulogenesis (d) embryogenesis

19. Bºmiª]¯õ ©õ›mi©õ uõÁµzv¼¸¢x QøhUS® ©¸¢x :

(A) ø£›zvµ® (B) \õs÷hõÛß

(C) Am÷µõL¤ß (D) S°øÚß

A drug obtained from Artemesia maritima is :

(a) pyrethrum (b) santonin

(c) atropine (d) quinine

20. ÁõìS»õº ÷P®¤¯® J¸ :

(A) ~Û BUSzv_ (B) Cøh BUSzv_

(C) £UP BUSzv_ (D) ¦÷µõö©›ìh®

Vascular Cambium is a :

(a) apical meristem (b) intercalary meristem

(c) lateral meristem (d) promeristem
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21. Bìi÷¯õ ìQÏøµk Põn¨£k® £Sv :

(A) S÷µõmh÷»›¯õ Âøu²øÓ (B) £mhõo°ß Âøu²øÓ

(C) ÷£›UPõ°ß uÍzv_ (D) ÁõøÇ°ø»°ß Põ®¦
The osteosclereids are seen in :

(a) seed coat of crotalaria (b) seed coat of pisum

(c) pulp of pyrus (d) petioles of banana

22. J¸ ©µzvß Á¯øu Auß Bsk ÁøÍ¯[PÎß GsoUøPø¯ øÁzx
PshÔÁx :

(A) öhßm÷µõS÷µõÚõ»â (B) £õ¼Úõ»â

(C) Gßh©õ»â (D) DUPõ»â
The determination of the age of a tree by counting the annual rings is called :

(a) dendrocronology (b) palynology

(c) entemology (d) ecology

23. |õÒ |k{ø»z uõÁµzvØS GkzxUPõmk :

(A) ¦øP°ø» (B) `›¯Põ¢v

(C) Kmì (D) ÷Põxø©
Which of the following is a day neutral plant ?

(a) Tobacco (b) Sunflower

(c) Oats (d) Wheat

24. J¸Âzvø»z uõÁµU Sk®£zvÀ ªPÄ® ÷©®£õk Aøh¢u Sk®£® :

(A) Bìm÷µ] (B) ©õÀ÷Á]

(C) ¹¤÷¯] (D) BºUQ÷h]
An advanced family in Monocotyledons is :

(a) Asteraceae (b) Malvaceae

(c) Rubiaceae (d) Orchidaceae

25. â®÷Úõìö£º®PÎÀ }øµU Phzx® •UQ¯ TÖPÒ :

(A) iµURkPÒ (B) ø\»U SÇõ´PÒ

(C) ø\»® |õºPÒ (D) \À»øhU SÇõ´PÒ
In Gymnosperms, the chief water conducting elements are :

(a) tracheids (b) vessels

(c) xylem fibres (d) sieve tubes
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26. iµõßìL£÷µìPÐUS J¸ GkzxUPõmk :

(A) iµõßì Aª÷Úì (B) ø£¸ÂU Põº£õUê÷»ì

(C) îìiiß iPõº£õUê÷»ì (D) iøímµá÷Úì
An example for transferase :

(a) transaminase (b) pyruvic carboxylase

(c) histidine decarboxylase (d) dehydrogenase

27. Cøn¯õu uÛzu AÀ¼PøÍ²øh¯ uõÁµ[PÒ RÌUPsh GÁØÖÒ Ch®
ö£Ö® ?

(A) ©õ÷ÚõUøÍø©i÷¯ (B) J¸Âzvø»z uõÁµ®

(C) ÷P÷©õö£mhõ÷» (D) £õ¼ö£mhõ÷»
Plants having flowers with free petals are placed under :

(a) Monochlamydea (b) Monocotyledons

(c) Gamopetalae (d) polypetalae

28. £Sv Jmksoz uõÁµ® CxÁõS® :

(A) Áõshõ (B) PìSmhõ (C) mµëµõ (D) ÂìP®
An example for partial parasite is :

(a) Vanda (b) Cuscuta (c) Drosera (d) Viscum

29. ø©m÷hõPõsm›¯õÂÀ G»Umµõß Phzx ö£õ¸mPÒ Aø©¢xÒÍ £Sv :

(A) ÷©m›Uì (B) öÁÎa\ÆÄ

(C) Q›ì÷h (D) Em\ÆÄ
In mitochondria, the electron transport components are arranged in :

(a) matrix (b) outer membrane

(c) cristae (d) inner membrane

30. ¤ßÁ¸® ©µ¦¨ ö£õÔ°¯À ‰»® E¸ÁõUP¨£mh G¢u¨ ö£õ¸Ò ö\ÀPÎÀ
øÁµì Gvº¨¦z vÓøÚ HØ£kzu EuÂ ö\´QÓx ?

(A) Cßhº¼³UQß (B) CßhºLö£µõß

(C) Cß_¼ß (D) öµÛß uk¨£õßPÒ
Which one of the following genetically engineered products helps the cells to resist
viruses ?

(a) Interleukin (b) Interferon

(c) Insulin (d) Renin inhibitors

https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click


86693

A

£Sv & B / SECTION - B

SÔ¨¦ : GøÁ÷¯Ý® £vøÚ¢x ÂÚõUPÐUS Âøh¯ÎUPÄ®. 15x3=45

Note : Answer any fifteen questions.

31. Ásnzx¨ §a] AÀ¼ Ámh® GßÓõÀ GßÚ ?

What is papilionaceous corolla ?

32. ©õÀ÷Á]°ß ÁøP¨£õmk {ø»ø¯ GÊxP.

Write the systematic position of malvaceae.

33. ]ßöáÛæ¯ì ©Pµ¢uzuõÒ GßÓõÀ GßÚ ?

What is syngenesious stamen ?

34. Am÷µõL¤ß GßÓõÀ GßÚ ?

What is Atropine ?

35. ³ìjÀ GßÓõÀ GßÚ ?

What is an Eustele ?

36. ©µ¦ Áøµ£h® Gß£x ¯õx ?

What is a genetic map ?

37. £i¯õUP® GßÓõÀ GßÚ ?

What is Transcription ?

38. ¤Íõ´i°ß •UQ¯zxÁ[PÒ ‰ßÔøÚU SÔ¨¤kP.

Write any three significances of ploidy.

39. uõÁµz v_ ÁÍº¨¤ØS £¯ß£k® FhP[PÒ ‰ßÖ SÔ¨¤kP.

Mention three media of plant tissue culture.

40. E°›¯ ^µø©¨£õUP® GßÓõÀ GßÚ ?

What is meant by Bio-remediation ?
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41. JÎ ÂøÚø¯ & Áøµ¯Ö.

Define light reaction.

42. íõì÷hõ›¯õ GßÓõÀ GßÚ ?

What are called haustoria ?

43. ]¯õiß GßÓõÀ GßÚ ?

What is Zeatin ?

44. _ÇÀ JÎ£õì£› Pµn® G¢u `Ì{ø»PÎÀ |øhö£ÖQÓx ?

State the conditions underwhich cyclic photophosphorylation occurs.

45. A¨÷£õGßøé® GßÓõÀ GßÚ ?

What is Apoenzyme ?

46. PõØÔÀ»õ _Áõ\® GßÓõÀ GßÚ ?

What is anaerobic respiration ?

47. ö£s÷hõì £õì÷£m ÁÈzuhzvß •UQ¯zxÁ[PÒ ‰ßÖ SÔ¨¤kP.

Mention three significances of pentose phosphate pathway.

48. C
3
 ©ØÖ® C

4
 ÁÈzuh[PÐUQøh÷¯²ÒÍ H÷uÝ® ‰ßÖ ÷ÁÖ£õkPøÍ

GÊxP.

Write any three differences between C
3 
and C

4
 pathway.

49. ö\õ»õÚ® ø|Uµzvß ©¸zxÁ¨ £¯ßPøÍ GøÁ÷¯Ý® ‰ßÔøÚ GÊxP.

Write any three medicinal uses of Solanum nigrum.

50. E°› Eµ® GßÓõÀ GßÚ ? Euõµn® u¸P.

What is Biofertilizer and give an example.
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£Sv & C / SECTION - C

SÔ¨¦ : (i) GøÁ÷¯Ý® HÊ ÂÚõUPÐUS Âøh u¸P. AÁØÖÒ ÂÚõ Gs
56 & US Pmhõ¯©õP Âøh¯ÎUP ÷Ásk®.

(ii) ÷uøÁ¯õÚ Ch[PÎÀ £h® ÁøµP.

Note : (i) Answer any seven questions including question no. 56 which is compulsory.

(ii) Draw diagrams wherever necessary.

51. öíº÷£›¯zvß •UQ¯zxÁzøu GÊxP.

Bring out the significance of Herbarium.

52. ª³éõ ©ØÖ® µõÁöÚ»õ uõÁµ[PÐUQøh÷¯²ÒÍ ÷ÁÖ£õkPøÍ
GÊxP.

Write the differences between Musa and Ravenala.

53. £õµßøP©õ v_Âß ÁøPPøÍ ÂÍUSP.

Explain different types of parenchyma.

54. £møhzxøÍPÒ £ØÔ SÔ¨¦ ÁøµP.

Write short notes on lenticels.

55. J¸Âzvø»z uõÁµ÷Á›ß SÖUS öÁmkz ÷uõØÓzøu £h® Áøµ¢x
£õP[PøÍU SÔUP. (ö£›uõUP¨£mh £h® AÀ»x Ai¨£øh¨ £h®)

Draw and label the parts of transverse section of a monocot root (a sector enlarged or
Ground plan)

56. Phzx RNA Aø©¨¦ £ØÔ ]Ö SÔ¨¦ ÁøµP.

Write short notes on the structure of tRNA.

57. DNA &ÄUS® RNA &ÄUS® EÒÍ ÷ÁÖ£õkPÒ ¯õøÁ ?

Write the differences between DNA and RNA.

58. ©µ¦¨ ö£õ¸mPøÍ Ch® ©õØÔ Aø©¨£uß £¯ßPÒ £ØÔ GÊxP.

Write short notes on the practical application of genetic transformation.

7x5=35
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59. ©Ö÷\ºUøP DNA öuõÈÀ~m£zvß I¢x •UQ¯ {PÌÄPøÍ GÊxP.

Write the five most important events of recombinant DNA technology.

60. Tß SkøÁ B´øÁ ÂÁ›.

Explain Kuhne’s fermentation tube experiment.

61. BU]Ýøh¯ ÁõÌÂ¯À ÂøÍÄPÒ I¢vøÚ GÊxP.

Write any five physiological effects of Auxin.

62. uõÁµ AÔ•P® £ØÔ ]Ö SÔ¨¦ ÁøµP.

Write short notes on plant introduction.

£Sv & D / SECTION - D

SÔ¨¦ : (i) GøÁ÷¯Ý® |õßS ÂÚõUPÐUS Âøh u¸P. 4x10=40

(ii) ÷uøÁ¯õÚ Ch[PÎÀ £h® ÁøµP.

Note : (i) Answer any four questions.

(ii) Draw diagrams wherever necessary.

63. (A) ö£¢u® & íüUPº ÁøP¨£õmiß {øÓPøÍ GÊxP.

(B) ¹¤÷¯] Sk®£zvß ö£õ¸Íõuõµ¨ £¯ßPøÍU SÔ¨¤kP.

(a) Bring out the merits of Bentham and Hooker’s classification of plants.

(b) Give an account on economic importance of Rubiaceae.

64. ª³éõ £õµiê¯õPõÂøÚ Pø»aö\õØPÍõÀ ÂÁ›.

(£h® ÷uøÁ°Àø»)

Describe Musa paradisiaca in botanical terms. (Diagrams not necessary)

65. C¸Âzvø»z uõÁµz usiØS®, J¸Âzvø»z uõÁµz usiØS®
Cøh÷¯²ÒÍ EÒÍø©¨¤¯À ÷ÁÖ£õkPøÍ GÊxP.

Write anatomical differences between dicot stem and monocot stem.
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66. S÷µõ÷©õ÷\õ® Aø©¨ø£ ÂÁ›.

Explain the structure of chromosome.

67. uõÁµz v_ ÁÍº¨¤ß £¯ßPÒ ¯õøÁ ?

What are the outcomes of application of plant tissue culture ?

68. JÎa÷\ºUøPø¯¨ £õvUS® PõµoPøÍ ÂÁ›.

Write an account on the factors affecting photosynthesis.

69. C
2 

_ÇØ]ø¯ ÂÁ›. (JÎa _Áõ\®)

(Áøµ£h® AÀ»x ÂÍUP®)

Describe C
2 
cycle (photorespiration) (flow chart or Explanation)

70. ö|À ©ØÖ® {»UPhø»°ß ö£õ¸Íõuõµ •UQ¯zxÁ[PøÍU SÔ¨¤kP.

Write the economic importance of Rice and ground nut.

- o O o -
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